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3XML� V\XNXU� WHUKDGDS� NHKDGLUDW� 7XKDQ� <DQJ�0DKD� (VD� \DQJ� WHODK� PHPEHULNDQ�

UDKPDW�GDQ�NDUXQLD�1\D�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�\DQJ�

EHUMXGXO� ³3HUDQFDQJDQ� (QWHUSULVH� 5HVRXUFH� 3ODQQLQJ 0RGXO� 3XUFKDVH�

0DQDJHPHQW %HUEDVLV� 2GRR� XQWXN� 3HQJHQGDOLDQ� 3HUVHGLDQ� %DUDQJ� GL�

37�75,781**$/� 08/,$� :,6(6$� GHQJDQ� 0HWRGH� 5DSLG� $SSOLFDWLRQ�

'HYHORSPHQW´� � 6HODPD� SHQ\XVXQDQ� 7XJDV� $NKLU� LQL�� SHQXOLV� PHQGDSDW� EDQ\DN�

GXNXQJDQ� VHUWD� PDVXNDQ� GDUL� EHUEDJDL� SLKDN�� 8QWXN� LWX� SHQXOLV� LQJLQ�

PHQ\DPSDLNDQ�UDVD�WHULPD�NDVLK�VHFDUD�NKXVXV�NHSDGD��

���0XKDPPDG�$]DQL�VHODNX�SHPELPELQJ�,�\DQJ�WHODK�PHPELPELQJ���SHQXOLV�GDQ�

PHPEHUL� DUDKDQ�GHQJDQ�EDLN� VHKLQJJD� SHQXOLV� GDSDW�PHQ\HOHVDLNDQ�7XJDV�

$NKLU��

��� 8PDU� <XQDQ� .XUQLD� 6HSWR� +HGL\DQWR� VHODNX� SHPELPELQJ� ,,� \DQJ� WHODK�

PHPELPELQJ�SHQXOLV�GDQ�PHPEHUL�DUDKDQ�GHQJDQ�EDLN�VHKLQJJD�SHQXOLV�GDSDW�

PHQ\HOHVDLNDQ�7XJDV�$NKLU��

���+DUZLDGL�3XUZDQWR�\DQJ�WHODK�PHPEHULNDQ�DNVHV�SHQHOLWLDQ��PDVXNDQ�VHUWD�

VDUDQ�NHSDGD�SHQHOLWL�VHODPD�SHQJHUMDDQ�7XJDV�$NKLU��

3HQXOLV�PHQ\DGDUL�EDKZD�SHQHOLWLDQ�LQL�PDVLK�WHUGDSDW�EDQ\DN�NHNXUDQJDQ��0DND�

DWDV�VHOXUXK�NHVDODKDQ�GDQ�NHNXUDQJDQ�GDODP�7XJDV�$NKLU�LQL��SHQXOLV�PHPRKRQ�

PDDI�GDQ�PHQJKDUDSNDQ�VHJDOD�EHQWXN�NULWLN�GDQ�VDUDQ�\DQJ�EHUVLIDW�PHPEDQJXQ��

6HPRJD�7XJDV�$NKLU�LQL�GDSDW�EHUPDQIDDW�EDJL�SHPEDFD��

%DQGXQJ���� -DQXDUL�����

+HUJLDV�3DPXQJNDV


